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PAPER 1
General Paper on Teaching and Research Aptitude

Note : This paper contains fifty (50) objective type questions of two (2) marks each.
All questions are compulsory.

1. From the following list of statements, select those which indicate the characteristics
and basic requirements of teaching.
(i) Teaching implies communication.
(i1)) Teaching is like selling goods.
(iii) Teaching means managing and monitoring.
(iv) Teaching implies influencing others.
(v) Teaching requires convincing others.
(vi) There can be no teaching without infrastructural support.
Choose the correct answer from the code given below :

Code:
(1) @), (i) and (@v) (2) (@), (i1) and (1ii)
(3) (iv), (v) and (vi) (4) (ii), (v) and (vi)

2. What is the purpose underlying the use of teaching aids ?
(1) To make the lessons interesting
(2) To capture the students’ attention
(3) To enhance access to technological resources
(4) To optimise learning outcomes
3. In the two lists given below, List I provides the list of teaching methods, while List II

indicates the factors helpful in rendering them effective. Match the two lists and
choose the correct answer from the code given below.

List I List I1
(Teaching methods) (Factors helpful in making them effective)
(a) Expository method (1) Trust and openness in relationship

(b) Investigative method (ii) Freedom to choose a theme and scope for frank
exchange of ideas

(c) Discussion method (iii) Creating a challenge to address the problems
(d) Personalised method (iv) Systematic, step-by-step presentation
(v)  Maximising infrastructural support

Code :

(a) (b) (¢ (d)
(1) Gv) (iii) (i) (i)
(2) @ (ii) (iii) (iv)
(3) (i) (iii) (iv) (v)
(4) (ii) (1) (ii) (iv)
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TeA-a 1
Treror ok e srfersfr w1 T TgA-uT

Adsr: 3@ 397-97 4 gend (50) TE-fA%c9T 397 & | T8% T F q1 (2) 3% & 1 a5 3o

1.

At & |

frfafea wom g=h § 3= gfw, St freor 6 gor emamedt it fivarett =1 3w # |
Q) fareror § wdwor fifgq 2

(i) farefor sregedi o fosha S B |

(iii) fereror =1 o7 geEA 3 YT ® |

(iv) Toreqor o o= ot wfer she fafga 2

(v) e # 3= suiwal o1 sfeaed e figd @ |

(vi) STRrETeHTcRs gueda & fomr s f3reqor 7€ & "ehar |

Fr fw U e & & W IR B AT
<< :

(1) @), (i) 3 (iv) (2) (1), (i) 3 (ii)
(3)  (iv), (v) 3 (vi) 4) (i), (v) 3 (vi)

TRreqor wgrIeh AR 6 TR T TASH FT 8 ?

(1) 9T Sl TR ST

(2) B N A ARG BT

(3) renfirehi wEmeAl o ugw H srfirgfy e

(4) i wfomml 61 geead ST

< et & g ¥ | g I H freror fafert < v €, vt g 11 A SR v A d wgEes
Feh 3 e e € | 37 <Al gt v gafaa fifse it fe o o ge § @ W s A
T |

Tt 1 Tt 11
(Toreror farferat) (3% TwTElt ST W UETEh )
(a) =urEATEHS (FuHTeHe) fafa () dadi | fovamg o garH
(b) srAvUTHe fafy (i) forelt JeRtoT o oM <t T R fo=ml & T
HGH-UEH <l T[wTgHl
(c) uiem=r fafar (iii) THEATSAT W &M ¢ 6 [T Teh A TG HET
(d) Jafwes fafa (iv) =yafeed, amTes Jegfa

(v) SARIEEFTCHS Tdaais i ATehdd ST
e :
(a) (b) (c) (d)
1) @Gv) (iii) (ii) (1)
(2 @ (ii) (iii) (iv)
(3) (i) (1i1) @iv) (v)
(4) (ii) (1) (ii) (iv)

3-00018 VAV ARV EAM AN AR 3-w Paper |



4. Below are given statements pertaining to evaluation systems. Identify those which
correctly explain them.

(i)  Criterion-Referenced Testing (CRT) focuses on a delimited domain of learning
tasks.

(i1)) Norm-Referenced Testing (NRT) requires a clearly defined group.

(i1i) Formative tests are given at the end of a course.

(iv) Both Norm-Referenced Testing (NRT) and Criterion-Referenced Testing (CRT)
use the same type of test items.

(v) Summative tests are used regularly during teaching transactions.
(vi) Mastery tests are examples of Norm-Referenced Testing.

Choose the correct answer from the code given below :

Code :

(1) (@), (i) and (iii)

(2) (1), (i) and (iv)

(3) (@v), (v) and (vi)

(4) (i), (v) and (vi)

5. In the list given below, identify those key teaching behaviours which have been
observed to be contributive to effectiveness.

(i) Lesson clarity

(ii) Probing

(iii) Teacher-task orientation
(iv) Student success rate

(v) Instructional variety

(vi) Using student ideas

Choose the correct answer from the code given below :

Code :
(1) @), (d1), (iii) and (iv) (2) (i), (iv), (v) and (vi)
3) (i), (dii), Gv) and (v) (4) (i), (iii), (v) and (vi)
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4, = goareh yonferl @ EEfdd wed fU MU § | 39 oMl W gew, S s yonferl i Eel
I L 3 |
(i) Frery-wehia whew (Hh.em.d.) sifom wrt % e e o o 2ar ? |

(i) WHH-HEHA T (T.AREL.) % [T Tk e &9 H qRATYG EHg o1 SATewaehdl gidl
=l

(iii) TAmtorcne W ureseRt 6t fhafafa @ gvarq fou simd & |

(iv) AHh-Tefd qhemr (T.37R.&.) 3R Fery-aehia vheor (H.amd.) gH1 th & TR &
Y UGT T ST L B |

(v) Toreror fspareem <t erafer T Geherenss wieton =1 ffira v 8T ® |

(vi) TYca Tdiegor, weh-Hefia weor % g 7 |

= fou T e § @ T S S g

<< :

(1) @), () 3R (i)

(2) @), (i) 3R (v)

(3)  (iv), (v) 3R (vi)

(4) (i), (v) 3R (vi)

5. A= T g H, 3 e e Sregri f vgee i, e gwfadr i g 9 sgees awn
TR |

(i) T <hi TS

(i) oot =

(iii) rerh-sprl ST

(iv) B s FHAdT &L

(v) IevATeHe fafaera

(vi) BT & fI=mi =1 3w

= fow e e # @ W I A g

He :

(1 @), (i), (i) 3 (iv) (2) (i), (iv), (v) 3R (vi)
(3) (), (id), (iv) 3R (v) (4) (i), (ii), (v) 3R (vi)
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6. Identify the correct order of the following components which are interrelated in
research.

(i)  Observation

(i1)) Hypothesis making

(i1i) Developing concepts

(iv) Deducing the consequences of theories
(v) Methods employed to obtain them
Choose the correct answer from the code given below :
Code :

(1) (v), (iv), (iid), (ii) and (1)

(2) (@), (i), (i1), (iv) and (v)

(3) (i), (iii), (i), (iv) and (v)

(4)  (@{v), (v), (iii), (ii) and (i)

7. In the list given below, identify those statements which correctly describe the
meaning and characteristics of research.

(i) Research is a method of improving our common sense.
(i1)) Deductive and inductive methods get integrated in a research process.
(iii) Research is creativity and charisma.

(iv) Research is the use of scientific method to provide answers to meaningful
questions.

(v) Method of consulting and using experience is called research.
(vi) The answers provided by research can be empirically verified.
Choose the correct answer from the code given below :

Code :

(1) (i), (iv) and (vi)

(2) (1), (i1) and (iii)

(3) (@v), (v) and (vi)

(4) (@), (iii) and (v)
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6. Wy A q-Hefuq Fefefad gewt & @t wa f ggum A |
G) J&o
(i) e fomior
(iii) HEIET 1 T
(iv) fogat & afomt =t Ffia e
(v) %= M % e vy fafemt
= fou e e & | T W H g
e :
(1) (v, (v), (il), (i) 3R (1)
2) @), (i), (i), (iv) 3R (v)
(3) (i), (ii), @), (iv) 3R (v)
4)  Gv), (v, (iid), (i) 3 {)

7. A= @ T g A, 3T FEl A gg9H HINC, S wMY 5 3 IR foRIvAreT w1 w1 v
A B |
(1) 3y AW I gig § gun i v fafa g |
(i) <y gk ® FmeTeres 3R stmmaTeres faftmt smfma & st €
(iil) Mg For=iaar R T HRET 7 |
(iv) 39 |1 T o 3T TGH H H IR (o 1 91T 7 |
(v) w6 fafy it arge o SIgwRi st sty et S B |
(vi) Y g Yoo STl ol sfgamgufas @ @ Feanfua fohan <1 dehat B |
= fou U e ¥ | T W A g
<< :
(1) (i), Gv) 3R (vi)
(2) (@), (i) 3R (iii)
(3) (iv), (v) 3R (vi)
4) (), (i) 3T (v)
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8. In the two lists given below, List I provides the types of research methods, while
List II indicates the critical features associated with them. Match the two lists and
choose the correct answer from the code given below.

List I List IT
(Research methods) (Critical features)
(a) Ex-post facto method ) Finding out the status based on a study of
a large sample
(b) Case study method (i1)) Interpretation of thoughts of a great
thinker
(c) Philosophical method (iii) Intervention based ameliorative approach

(d) Descriptive survey method (iv) Causal comparison and correlational
studies

(v)  In-depth study of a unit specified for the

purpose
Code :
(a) (b) (O (d)
(1 @ (i1) (iii) (iv)
(2) (i) iii)  @v) )
3 @ () (D) (v)
(4) (@Gv) ) (ii) i)
9. A researcher uses parametric test in lieu of non-parametric test for analysis and

interpretation of results. This may be described as a case of
(1) Unethical research practice

(2) Malpractice in reporting of results

(3) Technical lapse in handling data

(4) Manipulation of research results

10.  Which of the following provides more latitude to the researcher for creative
expression ?

(1) Thesis writing
(2) Writing of a research article
(3) Presentation of a conference paper

(4) Preparing a research synopsis

3-00018 VAV ARV EAM AN AR 8- W Paper |



8. o g gt § R E | g I H My iR % R fu w ¥, Sefe g 11 A 3 deg
el fomivard S <1 ¢ ¥ | 39 a1 glewt il gafea i oi Ao fo e g § @ @@

IT ! AT |

Tt 1 SCipt!

(vnrer farferat) (Weerqu fereaTd)
(a) R fafy () U a8 g W ot MU 1M W anemia feufa =

T ST
(b) =afed sreaem fafy (ii) weh HEgH Tawae i faamam 6 s
(c) grifes fafa (iii) BT TG IRIHH IUTTH
(d) FuHTHS e fafy (iv) RIS JoHT AR T8-FaUTcHS A
(v) foreft 3ewa o foru fafafdse us soh1s o1 T&a s1emm

e

(a) (b) (© (d)
1 ® (ii) (iii) (iv)
(2) (i) (iii)  (iv) v)
3 @ (iii) (ii) (v)
(4) @Gv) () (ii) (1)

9. e Mereff gt & faveivor et s & fou smufufas (smmafas) wliemr & e «
wfhfas (Srafeteh) TeIvr ST 3UAT HaT 8 | $EehT fohd €9 | 9uiq foham ST Tl B 2

(D
(2)
(3)
(4)

a1faes sy SR

gt st feaifdn & atecraTsht

Yl 1 TEqd (SHAfEd) S H dehAehl g
sy gt J§ 3

10.  goHTeHe Afeafn o fore sieneff i Ffafad & @ fraw s1fres qmsw § 2

(1)
(2)
3
(4)

MY-y&g TG

I Yo HT oG
T T hl TEqfd
SNy gegfeasht w1 fmo

3-00018 VAV ARV EAM AN AR 9-w Paper |



Read the following passage carefully and answer questions no. 11 to 15.

Some 2000 km down south of the Amazon, and about the same time when the
tidal waves were at their highest as a consequence of the big clash of sea and fresh
water at the Amazon delta most vigorously in March and April (2018), more than
40,000 people were talking about the power of water. Brasilia hosted the eighth
edition of the World Water Forum (WWF — 8), where heads of states, civil societies
and private sector gathered to discuss the present and future of mankind’s most
valuable resource. This year’s theme was ‘Sharing Water’, and the government
authorities expectedly put forth a political declaration, aimed at raising awareness
about threats and opportunities associated with water resources. Deliberations here
would play a decisive role in the periodic assessment of the sustainable development
goals of Agenda 2030.

Brazil has established a solid institutional and legal framework for water
management, based on the principle of multi-stakeholder participation. Brazil has
also been conducting one of the boldest river inter-linking projects in which 500 km
of canals will transfer abundant waters from the Sao Francisco basin to small rivers
and weirs in one of Brazil’s most arid areas, benefitting more than 12 million people

in almost 400 municipalities.

India, too, has a large variety of water resources. An institutional framework
consisting of regional river boards and river cleansing missions has been set up,
while successive Central Governments have made efforts to address the dire needs of
irrigation and mitigation of ground water depletion. As in the case of Brazil, a lot

remains to be done in India.

Adequate treatment of industrial waste-water, the fight against
contamination of riverbeds and assistance to drought affected areas are high priority
topics for both New Delhi and Brasilia. Due to these commonalities, there is ample
room for bilateral co-operation. Water is a local, regional and global common and as

such, collaboration is key to address most of its associated threats.

Today, mankind is faced with two facts : water is too powerful a force to be
fought over, and too valuable a resource to be lost. To harmonise these two
conflicting aspects, sharing water is perhaps the only meaningful motto for the ages

to come.
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FrateReaa e @t sagde afgu ot wea w@@at 11 9 15 & s e

TS & gfequr § e 2000 fehetier = & A 31 3139 (2018) H 3THSIA Seel W
IO T q (W) A b HET TRER TFRL o holea®y S adt 319 frer w off, aa 3ht
T 40,000 ¥ Ay A A W o 91 H W=l W @ o | sEifEn 3 fave @@=
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THIfe TSN SaTfad At TS, e 3T Ja ganeEl § gefid wad o oEEd % aR o
SITTEehdl SIGHT o1 | 3 IiE=id @ 2030 % TVl H SRedTiad Tdd fash & gl & Tafeeh
3T | foTies sifirRt fFwmdt |

FA A I Jo9q % fou 95-eqanes arfigil o g W STuTid T 31| JEIT 3K
faftrer ww@T Tonfua 1 2 | sTeflet et s e Sed i Uk Argfies giEsn w1 wEe o
+ @ 7, Tl 500 franfict oist T8t % weaw | A1 Hifshl ¥ T I S % Th
Taifosh Y6 ogEA H oy Afdl IR Sfeprsti ol gwaana fRr Smom, SmE e
400 FraTferRiatt # 12 faferm @ emnf=a & |

R H ot foqa Hife % I GEEH § | &EE I SISl IR A4l €613 HRH a6
e T W@ TG FI T 7, FEh ITUT T H by WHR A = A Ieee
STARATHT 3R TG FA 5 SFTA&T o =T T EIH o o TIH fohU B | S8 o TSt o
e H, YRA § off 550-%0 T S em g |

fEfies smftTev@ &1 W WMed, FG-adl & G % fowg wEW IR
@I ST Bl FEEdt 1 78 feeeft 3R smeifern gF1 % fow 3= werfierar % g § |
3 THEarsT % SR fguef g £t orEfifta gve B | I uh v, asff ve afvaw
AT aTell T B 31 3Hd wfia sTehie wall @ Fued ¥ @ean i 3Ted i B |

qHd ST o T9eT AT g dRfashdld & : 9l ga1 g1 ARBIE o 7 foh 3t oot
oy e TR S Ehar TR I8 AT Hoaa Tied & b sHen! A i Sifew & 3IeTs S
Tahdl 3 | 3 Q1 foenuret wgqett & e amee foem & fofu S/ 1 aren e gvea: o
g o U ThA Ede Q- B |
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11.  As per the text of the passage, the eighth edition of the World Water Forum was
concerned with

(1) Present and future of mankind
(2) The issue of high tidal waves
(3) The power of water

(4) The role of civil society in solving water-related problems

12. Deliberations on the theme ‘Sharing Water’ should facilitate
(1) Regular evaluation of sustainable development goals
(2) The role of private sector in preserving water resources
(3) The establishment of institutional framework

(4) Sensitisation of government authorities

13.  The institutional framework of Brazil for water management
(1) Promotes bilateral collaboration
(2) Provides for multi-stakeholder participation
(3) Consists of regional river boards

(4) Addresses legal dimensions of water sharing

14. What would be of high priority to both New Delhi and Brasilia as regards river
water ?

(1) Proposing water as a global common
(2) Sharing water
(3) Development of large water resources

(4) Fight against contamination of riverbeds

15. The main focus of the passage is on
(1) Resolution of water conflicts
(2) Encouraging bilateral co-operation
(3) Management of water as a valuable resource

(4) River inter-linking
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11.

12.

13.

14.

15.

TR W @ % ITER, fava @ w9 w1 oMeal s fEfafed @ @ femw wefud

ot ?

(D
(2)
(3)
4)

TG M % I 3R 9iosr & IR §

I A T o HES o IR

S I Wk 6 IR H

S ¥ e SRS o TETEH H IS Sl i YRl o aR |

qa-fawa (ofiw) St w1 |men ST | foem-fomst fefafea # @ frad wgres g1 =mfe ?

(D
(2)
3
(4)

qad fasra et 1 fHafia e

STt HETEAT o TRE § fAsft & < spften
TETTA FYLGT <l TATIT

THHT ITTHTRET sl TGN ST

I TG o IR T SIS shl GEATT TR

(D
(2)
(3
(4)

fgaafia w=am 1 FemEr ot 2
wrg-fequme e wem w3

&fig 7t et v e et R

STl =l | S o IR | faferes smemi w e ot ]

T I & SR § 73 feoell 3 sEifern g1 h U 3= wefehar @ B ?

(D
(2)
3
(4)

A 1 Teh dfveeh TETEH % ®9 H YEdTfad ST
EREIRIE T

foremet st el 6 T S

TE-qAT % HGIU o TIaATH Y

I9YH T G&F €9 ¥ fohd W higd 7 ?

(1)
(2)
3
(4)

STA-HENT o TG W

fguafia T w1 sgrEn ¢ W

T HoId HETEH & ®9 H I & JIgT W
Al I TER S8 W
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16. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code

given below.
Assertion (A) : Meanings of messages used in the classroom are arbitrary in nature.

Reason (R) : Meanings are learnt as a result of one’s prior experiences.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.

(4) (A) is false, but (R) is true.

17. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code

given below.
Assertion (A) : Classroom communication has a cultural dimension.

Reason (R):  Beliefs, habits, customs and languages are the cultural
characteristics of communication.

Code :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(83) (A)is true, but (R) is false.

(4) (A)is false, but (R) is true.

18. In a classroom, teachers and students use self-interest issues to judge
(1) Their acceptability
(2) Uncritical dispositions
(3) Negative re-inforcement of ideas

(4) External non-verbal cues
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16. = g1 e fou e E, fH @ e afirem (A) R TR g @k (R) ® | el w1 ufge i F=
fau T e 1 T W IW AT |

SfHeT (A) :  HeTTa gifeafad § T deu b A wured: Wivss g |
@b (R) : =tk Y qd-3al o TRUMHETEY 3727 i TE01 T 2 |
e :

(1) (A) 3R (R) &1 @&l € @ (R), (A) hi T& =zmen 2 |

(2) (A) 3R (R)qHI W&l &, T (R), (A) 3 =&l =3 78 2 |

(3) (A%l 7, Wg (R) TTerd € |

(4) (A)Terd 8, g (R) HEl & |

17. = 3 %A fou e E, H @ e afirer (A) R STt g @ (R) ® | oMl &1 dfge i F=
fau T e 1 A T IW FHT |

YT (A) :  HETTA TRIEARTET § N0 1 Teh AERideh ST BT 3 |

7 (R) : e, 3red, Afd-farst it vl iy i wiepfaes famyaTd § |
e

(1) (A) 3R (R) aHT w&l & 921 (R), (A) =l Hel AT 7 |

(2) (A) 3R (R) 3 W&l &, T (R), (A) 1 &t =amean 74 2 |

(3) (A)EE g, wg (R)Ted 7 |

(4) (AT 8, g (R) HEl & |

18.  whEwTa gRfeafaat # ek TR o foreeh R ol o 7 W@-f&d & q&i o1 39T d & ?
(1) 3eh! Tl
(2) srEHiErTcH g
(3) To=mi w1 ThRICHS JeeH

(4) ST 3TeMfedeh Hehd
3-00018  INANMAN AR R O AROAVR 15— W Paper |



19. Variables that affect the information processing in a classroom are
(i)  Perception levels
(ii)) Learned habits
(iii) Attitudes, beliefs and values
(iv) Selectivity factor
(v) Market expectation
(vi) Institutional intervention
Choose the correct answer from the code given below :

Code :
(1) (), (i1), (v) and (vi) (2) (i), (iii), (iv) and (v)
(3) (iid), (iv), (v) and (vi) (4) (1), (1), (iil) and (iv)

20. Given below are two statements, one labelled as Assertion (A) and the other labelled
as Reason (R). Read the statements and choose the correct answer using the code
given below.

Assertion (A) : Selective exposure in the classroom is dependent upon students’
perceptions and knowledge about the source of information.
Reason (R) : The effectiveness of the communication source determines the
selective exposure of students to information.
Code :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(3) (A)is true, but (R) is false.
(4) (A)is false, but (R) is true.
21.  The next term in the series
5,11, 21, 35,53, 7, ...
is
1) 75 (2) 90 3) 115 (4) 125
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19.

20.

21.

wemTa aRfefaat  FerT TshHoT hY Ui i aTet =R §
() YR T

(ii) eTfia eTed

(i) IRt s iR 7o

(iv) <II[TcHhdT hieh

(v) STSR 6 3Tder

(vi) TEINIG g&qad

= feu e e & | T W H g

e :

1) @), (i), (v) 3R (vi) (2) (i), (i), (iv) 3 (v)
(3) (i), Gv), (v) 3 (vi) (4) @), (1), (ii1) 3R (iv)

= @ o fou T E, o @ ue Sifiene (A) R SR g0 @ (R) B | el 1 afey ofR A=
fau MU e 1 TR B TR W FAC |

ST (A) : T gl § ST IHTEH g1 Eid o 9] § SET o Scaafien
Td S TR et 7

7% (R) : FEINU GG <l THTIAT BET 6l I % a1 § ST ST s Fuffa
H 7 |

e

(1) (A) 3R (R) aHT @&l & 921 (R), (A) =l Hel =TT & |
(2) (A) 3R (R) 3 @&l &, T (R), (A) 1 &t =amean 74 2 |
(3) (AWl 7, Wg (R)Terd & |

(4) (A7 7, 9g (R) &t B

T e
5,11, 21, 35, 53,2, ...
1 ST UE &
1 75 2 90 (3) 115 4) 125
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22,

23.

24.

25.

26.

The next term in the series
XY, ABC, FGHI, ?, ...
1s
(1) MNPQO (2) MNOPQ
(3) PQOMN (4) NMPOQ

If the code of ALLAHABAD is DPQGOIKKO, then the code of BENGULURU will be
(1) ESBTBDIMF (2) MBDBFEIST
(3) EISMBTDBF (4) ESBDFBTMI

A man paid ¥ 160 while travelling 10 km in a taxi which has some initial fixed
charges. Another man paid ¥ 276 for travelling 16 km and the taxi driver charged

double of the initial fixed charges from him.
The charges of the taxi per km is
(1) <10 (2) %13 3 T1 4) <T17

Gopal walks 20 m North. Then he turns right and walks 30 m. Then he turns right
and walks 35 m. Again he turns left and walks 15 m. Then he again turns left and
walks 15 m. The shortest distance between his original position and final one is

(1) 65m (2) 55m (3) 40m (4) 45m

Choose the proper alternative given in the code to replace the question mark.

Cow —  Milk
Bee — Honey
Teacher - ?
Code :
(1) Marks

(2) Discipline
(3) Wisdom
(4) Lesson
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22,

23.

24.

25.

26.

T e
XY, ABC, FGHIL ?, ...
T A IE &
(1) MNPQO (2) MNOPQ
(3) PQOMN (4) NMPOQ

If¢ ALLAHABAD %1 %< DPQGOIKKO 2, @ BENGULURU 1 %¢ &

(1) ESBTBDIMF (2) MBDBFEIST
(3) EISMBTDBF (4) ESBDFBTMI

T ik T drft § 10 forardier s e & fow T 160 1 Jram a8, o 3 sty
ffeaa o aftafera 8 | v 31 =t 3 16 fepctiviet i amn & fofw & 276 &1 gmae T
qe 2l greeR 4 3uH e Ffvad Yook 1 AT 9 oA |

St 1 gfa fopeiiet 3o 3
(1) T 10 2) T 13 3 T11 4) T 17

et IR feem & 20 Hex =« | 3Hk 91 98 SIfed gt 30 Hil =TT | IHeh W1 I8 e
gt 35 Hiet =@l | JA: 98 910 gt 15 Hiet =@l | §9eh o1g 98 H: a8 gt 15 HieX
= | IFeh AR feufa i sifom feufa < offer =mam gft 2

(1) 65X (2) 55X (3) 40 X (4) 45T

e fore o T W feu e e # ¥ "y fasew w5 g |
T - g
Ayl - WEQ
g - 2

e :

(1) 3%

(2) ITf=mEA

(3) =M

(4) U3
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27.

28.

29.

30.

Among the following, two statements are related in such a way that if one becomes
undetermined, the other will also be undetermined. Select the code that refers to
these two statements.

Statements :

(i) Every fruit is nutritious.

(i1) Fruits are hardly nutritious.

(iii) Fruits are mostly nutritious.

(iv) Some food items are nutritious.

Code:

(1) (1) and (i1) (2) (i) and (iii) (3) (iii) and (iv) (4) (i) and (iv)

Given below are two premises (a) and (b). Four conclusions are drawn from them.
Select the code that embodies validly drawn conclusion(s) (taking the premises
individually or jointly).

Premises :

(a) All saints are noble.

(b) Some religious men are saints.

Conclusions :

(i)  Some religious men are noble.

(i) All religious men are noble.

(iii) Some saints are religious men.

(iv) All noble persons are saints.

Code :
(1) (i) and (ii) (2) (i) and (iii)
(3) (i) and (iii) (4) (1) and (iv)

Which one is not correct in the context of deductive and inductive reasoning ?

(1) A deductive argument makes the claim that its conclusion is supported by its
premises conclusively.

(2) A valid deductive argument may have all false premises and true conclusion.
(3)  An inductive argument claims the probability of its conclusion.

(4) An inductive argument cannot provide us any new information about matters
of fact.

When the purpose of the definition is to explain some established use of a term, the
definition is called

(1) Stipulative (2) Lexical (3) Persuasive (4) Theoretical
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27.

28.

29.

30.

ffafad # 8 1 %od 39 YR wafud § F6 Al 9ee wed AHRed s9ar ®, a1 gE o
IHfTad BT | 36 %he 1 9= hINT, S $1 GHI HeFl § HEfd g |

HIT :

(i) TP B UNF 7 |

(ii) W harfad & 9N 8 |

(iii) we HAfeehITaaT I B |

(iv) O G gy 919 7 |

e :

(1) @) 3R (i) (2) (i) 3R (ii) (3) Gi) IR Gv) @) @) 3R (iv)

1 21 STUR FTF (a) 3R (b) few U # | 38 =R ffd frswd € | 58 e # e A,
Jg w9 # frsnd B (YR ITeRit 1 ARETT A1 §YE I F Ad gO) |

STTEN I :

(a) Gt Gd I3 S B |

(b) T =fiieh sk @d B |
75 -

() FO =it =afk I3 I 2 |
(i) Tt efifen =afer orss S & |
(iii) F® §d o =afe 2 |
(iv) @t s 59 & & |

<< :
(1) (1) 3 (ii) (2) (i) 3 (iii)
(8) (1) 3R (iii) (4) @) 3R (iv)

forrTcHes 3R ST ek o Hed d fyefefiaa & 9 w9 w9t 77 ' 2

(1) U (HTcHS qeoh I8 <raT Hial & foh 3HehT sy emem are o ffved w9 o gufda
BT R |

(2) U Ay FTHATHS deh o I8 Gt T STTUR ST 3R Tt fsey B dehd 8 |

(3) Ueh JMTHATCHe deh 379 s f Gurrearar & R # <rar i & |

(4) U JNTHATCH b BH ARATIehdTl b SR H hig 43 T Tal ¢ Fhal |

e IRTST ST 32T Th UG o $S TdTeld IUANT hl SATGAT AT 7, A1 39 TRHTT <l gl ATl
7

(1) faffdse (2) eI (3) SATATTHS (4) @gifas
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Consider the following two tables (I and II) that indicate the percentage of employees
working in various departments of an organization along with the ratio of men to women in
the same departments. The total number of employees in the organization is 4600. Based on
these tables I and II, answer the questions that follow (Questions no. 31 — 35) :

I: Percentage of Employees II : Gender Ratio of
Departmentwise Employees
Name of the Percentage of Name of the Ratio
Department | Employees (%) Department Men | Women
IT 26 IT 1 3
Marketing 22 Marketing 1 1
Purchase 18 Purchase 5 1
HR 11 HR 1 1
Accounts 8 Accounts 3 1
Production 15 Production 3 2
31. What is the total number of women in the Accounts department ?
(1) 86 (2) 102 3) 80 (4) 92

32. What is the total number of employees working in the IT and HR departments
together ?

(1) 1628 (2) 1646 (3) 1766 (4) 1702

33.  What is the ratio of the total number of men to total number of women working in all
the departments put together ?

(1) 63:41 (2) 41:27 (3) 53:47 4 27:19

34. The number of women in the Purchase department forms what percentage of the
total number of employees in the organization ?

1 3% (2) 6% 3 1% 4) 12%

35. What is the ratio of the number of men in the Production department to the number
of men in the Marketing department ?

(1 7:3 (2 9:11 3) 13:7 4 11:9
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REferiga gt arferahrati (I 3K 1) W 199R #ife, o7t 136t a7 3 e faur 4 #rf sH=nial &
Tlavra & Fa Wl B, ard & T Ay d gen Sk dlensil &1 S[gwia A TR
8 | 39 137 7 FHAIR # FT &I 4600 & | FT aferwrsd [ SR I & STYR | 3gad! Fo41
(997 d. 31 - 35) & 3 @ :

31.

32.

33.

34.

35.

I : favmram =t ot afaera I1 : SHeTiEt st fermguTa
fayrr &7 717 | HHEIRE T Flavia P ST :
8 A 26 o9 | HEAW
foqum 22 s A, 1 3
Fol 18 IEEIE] 1 1
T3 11 E 5 1
ISEC)l 8 T3 1 1
EIRICC] 15 I§ECll 3 1
3IcaTe 3 2
@ faum § ufgeeti i $a aen e 8 2
(1) 86 (2) 102 (3) 80 4) 92

3MTE. 3. 3R TH. IR, fa9mT i fieireRt 374 ritd ST 6l Hal e fhat 8 ?

(1) 1628 (2) 1646 (3) 1766 (4) 1702

ff foramii 1 fireieRt 30 HrEia el 1 el T SR Higenstt i el HEAT w1 U
8?

(1) 63:41 (2) 41:27 (3) 53:47 (4) 27:19

39 TS § HUATET hl ol TEAT | 5 fI9m 6t wfgensti H g fra wfaerd 8 2

1) 3% (2) 6% 3) 1% 4) 12%

Icqre faum & geui <t T TR foque fawm § qesi 61 s 1 U #2182

(1) 7:38 (2 9:11 3 13:7 4) 11:9
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36.  Which of the following statement(s) regarding the term ICT is/are true ?

P: A digital divide is an economic and social equality with regard to access to, use

of, or impact of ICT.

Q: ICT helps in international development by bridging the digital divide and

providing equitable access to technologies.
Choose the correct answer from the following :
(1) Ponly (2) Qonly
(3) PandQ (4) Neither P nor Q

317. A confidential file needs to be deleted from a workstation. Which is the most
effective way to ensure this ?

(1) Rename the file
(2) Compress the file and back-up to tape
(3) Copy and paste the file into the recycle bin and empty the recycle bin

(4) Drag the file into the recycle bin and empty the recycle bin

38.  Which of the following statement(s) is/are true with regard to websites ?
P: A Dblogis a website that consists of posts in reverse chronological order.

Q: A wikiis a website that is designed to allow people to collaborate easily.
Choose the correct answer from the following :

(1) Ponly (2) Qonly

3) PandQ (4) Neither P nor Q

39. In the context of e-mail, what is ‘spam’ ?
(1) The act of overloading an e-mail server by using denial-of-service attacks
(2) E-mail messages that are infected with viruses
(3) A large quantity of messages that do not reach the recipient

(4) Unsolicited advertising sent to a large number of recipients
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36.

37.

38.

39.

3TE.41.31. 95 & ok ¥ F=fafed § & -9/ %99 @87 2/ ?

P: feca saua ome.i.d. % ANmm=ar, 3qeh TN, 3R 3Heh YW o SR H T(UH
AT AT 9T § |

Q: .. fefea ata = 0w I Nuififerai a6 =mEETa AT = JeH
AR T O Tgmar S B |

Frafafga 4 & wd 3T = g
(1) whad P (2) had Q
(3) P3rQ (4) AR PIMAE Q

Toreft oft sehees @ Mo wIsd o1 fagea foran ST 2 | 38kt gifvea & 1 aaifees g
et F 1 7 ?

(1) I3 ohl AT oedd o F91 A8 &1

(2) THISA ol Hepiad AT N 2T G U FHT

(3) TS ol hidl T 35k Famslerat fom o Uk e iR framsfera fom w1 @eft st
(4) s = 1 W Tamsfra fom § o ST 31k framsfera fom o1 @reft e

Serarea 3 A i Freffaa # & Bead FeE g V0
P: 15 o s U Je@se BT 7, foew facim Sremshiies qieed 3§ |

Q: 5 Y faeh ueh dwETse BT 7, SRl A gRT TReTdT ¥ YRR TEANT i o oY dIR
P e B

Frafafea @ @ & s g .
(1) %ad P (2) Had Q
(3) P3MmQ (4) IAPIMIHQ

30 o ged § T g 2

(1) fera-re-afda Jgri & R -3 Tel W ATT-UR Se &1 &R
(2) 391 GeW, Sl A ¥ HHUA 21 @

(3) HC I T IS WA, I HATAT O 6] TR

(4) warfd <t s 9t GEn At T st s
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40.

41.

42.

43.

A virus type that is capable of shifting from one computer to another without user
interaction is known as a

(1) Worm (2) Trojan

(3) Logic bomb (4) Boot sector

Sustainable Development Goals (SDGs) are formally known as
(1) Transforming Our World : 2030 Agenda

(2) Sustainable Living For All : 2022 Agenda

(3) Life Of Dignity For All : 2022 Agenda

(4) One Planet, One People : 2030 Agenda

An earthquake of a magnitude in the range of 6:0 — 69 on the Richter Scale is

considered
(1) Moderate (2) Strong
(3) Major (4) Great

Frequent episodes of dense smog in winter season in the National Capital Region
(NCR) can be attributed to

(i)  stubble burning

(i1) biomass burning in rural households

(iii) transport

(iv) transboundary movement of pollutants

Choose the correct answer from the code given below :
Code :

(1) (i) and (iii)

(2) (1), (i) and (iii)

(3) (), (iii) and (iv)

(4) (1), (i1), (iii) and (iv)
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40. ITE 1 98 THR, Sl ITANHA % FITAN b [oF1 Th HF § g H Tl § & ¢,

FHEAT &
(1) 4 (2) W
(3) AT ™ (4) Fc TFR

41. Gad faemE @& (Ta.€.S0.) @ iy=Ties ®9 9 fohg 9 @ S S & 2
(1) =R fowa &1 ST : 2030 T
(2) & o foT Taa Sfteq el : 2022 TS
(3) oft & foru i Sfam : 2022 TSiE
(4) T U, Th SHAT : 2030 Toigl

42, & Tha | 6:0 — 69 1 I o I STt YhTT ! THT AT 8
(1) | TR HI (2) =
(3) ==t (4) &g

43. TS Ueurh e (TR, ) O wdf % diam o uft gy ol S weTs b SR 2
(i) @d IS B AT
(i) TrHior T § S G Rl AT
(iii) dfterE
(iv) Jguehi 1 €T | T HT FwH
= fou T g2 H & T I R g
He :
(1) () 3 (i)
(2) (), (i) 3R (ii)
(3) (i), (iii) 3R (iv)
4) (), (iD), (iii) 3 (iv)
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44.

45.

46.

Municipal Solid Waste (MSW) comprises of
(i) Household waste

(ii) Sanitation residue

(iii) Waste from streets

(iv) Construction and demolition debris
Choose the correct answer from the code given below :
Code :

(1) (@), (i1) and (iii)

(2) (@) and (iii)

(3) (1), (iii) and (iv)

(4) (@), (id), (iii) and (iv)

As per the Indian Government’s target for exploiting renewable energy sources, the
percentage share of solar and wind energy in the total power generation from
renewable energy sources by the year 2022 will be about

(1) ~9143% (2) ~5714%

3) ~50% 4) ~60%

The mandate of the University Grants Commission (UGC) includes
(i) disbursing grants to Universities and colleges

(i) recognising and monitoring technical institutions
(iii) funding research centres in Universities

(iv) managing various scholarship programmes
Choose the correct answer from the code given below :
Code :

(1) (1), (i) and (iv)

(2) (1), (iii) and (iv)

(3) (1), (i) and (iii)

(4) (1), (i1), (iii) and (iv)
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44.

45.

46.

TRATCTRT o 3 TUTITSE (TH.UH.Soc9, ) H 3TTT 7
(i) ERe IR

(i) Tooad-gad smafise

(iii) el =1 STafTe

(iv) T 3R g8gM 1 Ao

= fow T ge H & T S R g
®e :

(1) (), (i) 3R (i)

(2) () 3R (ii)

(3) (@), (i) 3R (iv)

4) (), (i), (iii) 3 (iv)

Tefferofiar Sott Gl & ged & fIT YR TR & A& o IHR a9 2022 e TR St
|idl ¥ Hat fagd 3cared § R Td a1 ot b1 o gt feen g

(1) ~9143% (2) ~5714%

3) ~50% (4) ~60%

forvafeoremer e smm (3.5 .5.) & sifeey o afffad 2
(i) fovafaemert 3R Sicl @l 3 o

(ii) op-Teh! HEAMT hl AT ST Td IR Taled

(iii) Torvafoene™t & s gl I i TgrEar ¢

(iv) fafirm sEafa sriwEd &1 J&w=

= fou U e § @ & I A FAT

ETE

(D (@, (i) 3 (iv)

(2) (), (iii) 3R (iv)
3) (1), (ii) 3 (iii)
(4) @), (i), (iii) 3R (iv)
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47.

48.

49.

50.

Which one of the following States is going to have India’s first National Rail and
Transportation University ?

(1) Uttar Pradesh (2) Maharashtra
(3) Bihar (4) Gujarat

The Citizen’s Charter is an instrument which seeks to make an organisation
(i) Transparent

(i1) Accountable

(iii) Formal

(iv) Accessible

Choose the correct answer from the code given below :

Code :
(1) (@) and (iii) (2) (@), (i1) and (iii)
(3) (), (i) and (iv) (4) (1), (d), (iii) and (iv)

The Chief Minister of a State is not eligible to vote in the Presidential election, if
(1) he/she himself/herself is a candidate

(2) he/she is a caretaker Chief Minister

(3) he/she has a criminal case pending against him/her

(4) he/she is a nominated member of the State Legislative Assembly

In the QS World Rankings (2018), which of the following Indian Universities is/are
among the top 500 Universities ?

(i)  University of Delhi

(i) University of Hyderabad

(iii) Banaras Hindu University
(iv) Jawaharlal Nehru University

Choose the correct answer from the code given below :

Code :
(1) @) only (2) (), (i1) and (iv)
(3) (1), (i1) and (iii) (4) (), (i1), (iii) and (v)
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47. fTmafafea @ 9 5 7= 0 9Ra &1 Y90 T @ U9 qiess favafaeme wenfua fean s

AT B ?
(1) W I (2) HERTE
(38) fugwr (4) TSUq

48. TR T Teh YK B, SN TohH] HIST sl 941G &
(i)  wweslt
(i) IoRerE
(iii) M=
(iv) <Afrm
T fou e e # @ W W w g
e :
(1) (1) 3 (i) (2) (), (i) 3 (ii)
(3) (1), (i) 3 (iv) @) @), (i), (i) 3N (iv)

49. TSI %1 g&F Tt Usgdd Ug % GG § 0 S 1 U 7T 8, AR
(1) =€ %3 Th Jeamh B
(2) 9% FriaTES g ol 8
(3) 3 fiacth SMmuwifeek AT wifeod 8
(4) 9% T fIgm @ &1 U TG T B

50. RTH. Tee R (2018) H, fAfafgd d & wH-w/@ wrdw fovafoare™  wdr=
500 fervarferemerat & & 278 ?
() Tooet fovafoeme™
(i) agueng forataame™
(iil) = RE fomg fervarfaermer
(iv) STt JgE favafdame
=t feu MU e W | T W F AT
<< :
(1) ad () (2) (D), (i) 3R (iv)
(3) (), (i) 3R (ii) @) @), (i), (i) 3R (iv)
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